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EW i #a 3P0 apie EW #®9 3 3%m(R0)
B# | DL | £ % Fall BB ik REAA | COP Datum
* tyz 2% | NS | EW | 2¥2 23 | NS | EW | #1 #8 | #1 | #8 || #1 | #8 Mean NS EW
1 N |None| 6SE7 1010 6SW7 1010 EW880 -4 4
2 | E| NS 5DXN-4 1100 4HES 450 650 12 EW400 | -12 2
3| S |EW 1NE3 150 3HW4 170 20 1 EW170 1
4 | W |Both 3CN4 130 3CN3 110 20 1 NS190 -2 2
5| N| NS 2HE2 110 3CS+1 100 10 EW50 -2 2
6 | E | EW SHES5 650 4SW4 620 30 1 EW270 -9 8
7 | S |Both 2HXN-1 200 2DXN-2 500 | 300 7 EW80 -3 9
8 | W |None| 3NW4 430 5DW-2 100 530 1 EW190 -6 -7
9 | N |EW 4SN4 420 2HS-3 150 | 570 1 NS400 1 1"
10 | E |Both 4SN5 650 4SN5 650 NS590 2 -2
#3- IMP| 20 | 24 -34 | 29
e N2
5 1 b A 8 AR
+ B INP 20 24
&3 INP 20 24 y
2 35-VP 8.50 11.50
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EW 27v% H¥ 250 a e EW #34 24RO
B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 22z | NS | EW | 29282% | NS | EW | #2 | #10 | #2 |#10] #2 [#10|| Mean | Ns EW
1| N [None] 6sW6 980 6SW7 1010 | 30 1 EWsso | -3 4
2| E|Ns| 4asxs-3 800 4HES5 450 350 8 EW400 | -9 2
3| s |EW 1NE4 180 1NE4 180 EW170
4 | W |Both| 3CN4 130 3SXW-3 | 800 670 12 NS190 | -2 12
5| N|Ns 2HE2 110 4cs-1 100 10 EW50 | -2 2
6 | E|EW| 4sw- 100 4SW4 620 | 720 12 EW270 | 9 8
7 | s |Both| 2CE-1 100 2NE2 120 | 220 6 EWS0 | 5 1
8 | W |[None] 3NW-1 50 3NW3 400 | 450 10 EW190 | 6 5
9 | N |EW 4SN5 450 4SN5 450 NS400 | 2 2
10 | E [Both| 4SN5 650 4SN5 650 NS590 | 2 2
A3+ IMP| 29 |20 8 6
B 2 ¥ 10 Dragonite
* B IMP 29 20
&3 IMP 29 20 .
# H-VP 13.14 6.86
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EW f#lsx £x2(F0 a e EW =3 $54(R0)
B# | DL | £ % Fall BB ik REAA | COP Datum
" 2sms2x | Ns [ EW | 252%% | NS | EW | #3 | #9 | #3 | #9 |#3 | #9 || Mean | Ns | EW
1 | N |None] 6SW-1 50 6SE6 980 | 1030 14 EWS80 | 14 3
2 | E|Ns 4HE5 450 3HE5 200 250 6 EW400 | -2 -5
3|s |EwW 1NE2 120 4HE4 620 | 500 11 EW170 | 2 10
4 | W |Both| 3NS5 660 3CN4 130 530 11 NS190 | 10 2
5| N| NS 2HE3 140 3HE-1 50 190 5 EW50 | -3 -3
6 | E|EW| 5HES 650 6SW-3 | 300 950 14 EW270 | -9 -1
7 | S |Both| 3CE-1 100 1NN-2 200 | 300 7 EWS0 | 5 3
8 | W [None|  3NwW-1 50 3NW3 400 | 450 10 EW190 | 6 5
9 | N|EW| 4sNa 420 4SN6 480 60 2 NS400 | 1 -2
10 | E |Both|  4SN5 650 4SN5 650 NS590 | 2 2
@3 IMP|53 |27 26
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Ry 3 Oceans 9 4 EJERE
* B IMP 53 27
&3+ NP 93 27 %
VP 17.16 2.84
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B# | DL | £ % Fall BB ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #4 | #11 | #4 [#11] #4 [#11]|] Mean NS EW
1 N |None| 4SW6 480 6SE7 1010 | 530 1 EW880 9 4
2 | E| NS 3HE3 140 4HES 450 || 310 7 EW400 6 2
3| S |EW 4HE-1 100 1NE3 150 | 250 6 EW170 7 -1
4 | W |Both 4CN4 130 3Cs4 130 NS190 -2 2
5| N| NS 1NS2 120 3CSs3 110 10 EW50 5 -4
6 | E | EW 3HE~ 100 4SW-1 100 EW270 9 -9
7 | S |Both 3CE~1 100 25W2 110 | 210 5 EW80 5 1
8 | W |None| 3DE~1 50 3NE-1 50 EW190 6 -6
9 | N |EW 4SN5 450 4SN4 420 30 1 NS400 2 -1
10 | E |Both 4SN5 650 5SXN5 850 200 5 NS590 2 -6
#®3 IMP|30 | 5 49 | 18
e A4
#* 4 e % 11 Challenge Madam
+ B NP 30 5
&3+ 1P 30 S s
# 35VP 16.97 3.03
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B# | DL | £ % L L2 ER S HuEAAL | COP Datum
* tyze% | NS | EW | 2¥z23% [ NS | EW | #5 | #13 | #5 [#13] #5 [#13 ]| Mean | Ns EW
1 N |None| 6SW6 980 6SW6 980 EW880 -3 3
2 E | NS 4DE-5 250 3HW-1 50 200 5 EW400 12 -10
3 S | EW 1NE3 150 1NE3 150 EW170 1 -1
4 | W |Both 3CN3 110 3CN5 150 40 1 NS190 -2 1
5 N | NS 4CS-1 100 2NE-2 100 200 5 EW50 -2 -4
6 E | EW 4SW-1 100 6HXE-2 500 400 9 EW270 9 -13
7 S |Both 2CS-3 300 2HN-1 100 200 5 EW80 -6 1
8 | W [None 2DE4 130 3NE3 400 270 7 EW190 2 5
9 N | EW 4SN5 450 4SN5 450 NS400 2 -2
10 | E |Both 4SN5 650 4SN5 650 NS590 2 -2
#3+ INP|12 | 20 15 | 22
2 23
B S Woods 13 el
+ B IMP 12 20
£ INP 12 20 5
VP 717 12.83
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EW E#%2 ##+(FO0O a e EW #4% 51 7(R0)
B# | DL | £ % Fall BB ik REAA | COP Datum
L t¥riss | NS | EW | £2522% | NS | EW | #6 | #12 | #6 |#12| #6 |#12|] Mean | Ns EW
1| N |None] 6SE7 1010 6SE7 1010 EW8S0 | -4 4
2 | E|NS| 5DXN-4 1100 4HE-1 50 1150 15 EW400 | -12 -10
3| s |EwW 1NE3 150 1NE3 150 EW170 | 1 -
4 | W |Both 3CN4 130 3CS4 130 NS190 | -2 2
5| N| NS 3NN-3 300 3HE3 140 160 4 EW50 | -6 3
6| E|EW 4sw4a 620 4HES5 650 | 30 1 EW270 | -8 9
7 | S |Both| 3cw-1 100 2SW2 110 | 210 5 EWS80 5 1
8 | W [None] 3NW3 400 3DE4 130 270 7 EW190 | -5 2
9 | N |EW 4SN5 450 4SN5 450 NS400 | 2 2
10 | E |Both 4SN5 650 3SN5 200 450 10 NS590 | 2 9
@3- IMP| 16 |26 27 | 13
s 6 I 12 X
* [®| IMP 16 26
£ 3 TNP 16 26 I
&P 6.57 13.43
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B# | DL | £ % Fall BB ik REAA | COP Datum
* tyz2% | NS | EW | 24223 | NS | EW | #7 | #14 | #7 [#14| #7 [#14 || Mean | NS EW
1 N [None| 6SE7 1010 6SW6 980 30 1 EW880 -4 3
2 E | NS 4HW5 450 4HE4 420 30 1 EW400 -2 1
3 S | EW 1NE4 180 1NE3 150 30 1 EW170 -1
4 | W |Both 4DS-1 100 2CN4 130 230 6 NS190 -7 2
5 N | NS 3CS3 110 2SE2 110 220 6 EW50 4 2
6 E | EW 4HE4 620 4SW4 620 EW270 -8 8
7 S |[Both 2CE-2 200 2SW2 110 310 7 EW80 7 1
8 | W |None| 3NW3 400 3NW3 400 EW190 -5 5
9 N | EW 4SN4 420 4SN5 450 30 1 NS400 1 -2
10 | E |Both 58S5 650 4HW-1 100 550 1 NS590 2 10
@3 IMP| 24 | 10 42 | 29
2 8 7 Cyclops 14 Catchall
* B IMP 24 10
&3 INP 24 10 "
o HVP 14.54 5.46
4




2 - - <
7 | 114 F 7 2RpERF Hile | 7 :
L)
NS #EF H3L(FO 8 T bl 1 1 NS # %% %2 3(R0)
EW ®@9 33P0 apie EW i@ 3 s (PO
B# | DL | £ % MEZ g ik REAA | COP Datum
* R, NS | EW | £xz 23 NS | EW | #8 | #1 | #8 | #1 | #8 | # Mean NS EW
1 | N |None 6SW7 1010 6SE7 1010 EW880 -4 4
2 | E|NS 4HES5 450 5DXN-4 1100 | 650 12 EW400 -2 12
3| S |EW 3HW4 170 1NE3 150 20 1 EW170 -1
4 | W |Both 3CN3 110 3CN4 130 20 1 NS190 -2 2
5| N| NS 3CS-1 100 2HE2 110 10 EWS50 -2 2
6 | E | EW 4SW4 620 SHES 650 30 1 EW270 -8 9
7 | S |Both 2DXN-2 500 2HXN-1 200 300 7 EW80 -9 3
8 | W [None 5DW-2 100 3NW4 430 | 530 1" EW190 7 6
9 | N | EW 2HS-3 150 4SN4 420 570 1" NS400 | -11 -1
10 | E |Both 4SN5 650 4SN5 650 NS590 2 -2
A3 IMP| 24 |20 29 | 34
25 8 U ,J,i 1 ﬁ Y
> B NP 24 20
£+ INP 24 20 )
2 VP 11.50 8.50
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EW #34 343(R0) EW 35% ##2(FO0
B# | DL| 2w M E SRE 1 A%AA | coP Datum
* tyze% | NS | EW | 24223 | NS | EW | #10 | #2 [#10] #2 [#10] #2 || Mean | NS EW
1 N |None| 6SW7 1010 6SW6 980 30 1 EW880 -4 3
2 E | NS 4HES 450 4SXS-3 800 350 8 EW400 -2 9
3 S | EW 1NE4 180 1NE4 180 EW170
4 | W |Both 3SXW-3 800 3CN4 130 670 12 NS190 12 2
5 N | NS 4CS-1 100 2HE2 110 10 EW50 -2 2
6 E | EW 4SW4 620 4SW-1 100 720 12 EW270 -8 -9
7 S |Both 2NE2 120 2CE-1 100 220 6 EW80 -1 -5
8 | W [None 3NW3 400 3NW-1 50 450 10 EW190 -5 -6
9 N | EW 4SN5 450 4SN5 450 NS400 2 -2
10 | E |Both 4SN5 650 4SN5 650 NS590 2 -2
#3 IMP|20 |29 6 | -8
B% 10 Dragonite 2 ¥
+ B IMP 20 29
&3+ IMP 20 29 0
VP 6.86 13.14
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EW 3235 §%5(R0) apie EW $&# £52(P0
B# | DL | £ % MEZ g ik REAA | COP Datum
L tyze% | NS | EW | c2¥zu3% [ NS | EW | #9 | #3 | #9 | #3 | #9 | #3 || Mean | Ns EW
1 N |None 6SE6 980 6SW-1 50 1030 14 EW880 -3 -14
2 E NS 3HES5 200 4HE5 450 250 6 EW400 5 2
3 S | EW 4HE4 620 1NE2 120 500 1 EW170 -10 -2
4 W |Both 3CN4 130 3NS5 660 530 1 NS190 -2 -10
5 N NS 3HE-1 50 2HE3 140 190 5 EW50 3 3
6 E | EW 6SW-3 300 5HES 650 950 14 EW270 1 9
7 S |Both 1NN-2 200 3CE-1 100 300 7 EW80 -3 -5
8 W |None 3NW3 400 3NW-1 50 450 10 EW190 -5 -6
9 N | EW 4SN6 480 4SN4 420 60 2 NS400 2 -1
10 | E |Both 4SN5 650 4SN5 650 NS590 2 -2
@3t [MP|27 |53 .26
e 9  kpERE |3 Oceans
* B IMP 27 53
£ 3+ NP 27 53 .
- H-VP 2.84 17.16
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B# | DL | £ % MEZ g ik REAA | COP Datum
* tyze% | NS | EW | 24223 | NS | EW | #11 | #4 [#11] #4 [#11] #4 || Mean | NS EW
1 N |None| 6SE7 1010 4SW6 480 530 1 EW880 -4 -9
2 E | NS 4HES 450 3HE3 140 310 7 EW400 -2 -6
3 S | EW 1NE3 150 4HE-1 100 250 6 EW170 1 -7
4 | W |Both 3Cs4 130 4CN4 130 NS190 -2 2
5 N | NS 3CSs3 110 1NS2 120 10 EW50 4 -5
6 E | EW 4SW-1 100 3HE-1 100 EW270 9 -9
7 S |Both 2SW2 110 3CE~1 100 210 5 EW80 -1 -5
8 | W [None 3NE-1 50 3DE-1 50 EW190 6 -6
9 N | EW 4SN4 420 4SN5 450 30 1 NS400 1 -2
10 | E |Both 5SXN5 850 4SN5 650 200 5 NS590 6 -2
#3 IMP| 5 |30 18 | -49
e L4
B% 11 Challenge Madam | 4 M=
+ B IMP 5 30
&3 INP 5 30 2
VP 3.03 16.97
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 2mz2s [ NS | EW | 2925% | NS | EW | #13 | #5 |#13] #5 |#13] #5 || Mean | Ns EW
1 N |None| 6SW6 980 6SW6 980 EW880 -3 3
2 | E| NS 3HW-1 50 4DE-5 250 200 5 EW400 10 -12
3| S |EW 1NE3 150 1NE3 150 EW170 1 -1
4 | W |Both 3CN5 150 3CN3 110 40 1 NS190 -1 2
5| N| NS 2NE-2 100 4CS-1 100 | 200 5 EW50 4 2
6 | E | EW 6HXE-2 500 4SW-1 100 400 9 EW270 13 -9
7 | S |Both 2HN-1 100 2CS-3 300 || 200 5 EW80 -1 6
8 | W |None| 3NE3 400 2DE4 130 270 7 EW190 -5 -2
9 | N |EW 4SN5 450 4SN5 450 NS400 2 -2
10 | E |Both 4SN5 650 4SN5 650 NS590 2 -2
#3 IMP| 20 | 12 22 | 15
> 43
B 13 cqied 5 Woods
B INP 20 12
&3 IMP 20 12 .
# H-VP 12.83 717




2 - - <
7 | 114 F 7 2RpERF Hile | 7 :
3
NS f1% 343 (F0) 1 2 T bl 6 6 NS % mEx(RO0)
EW #4% HE25(R0) a e EW Zt4 4#8F(FO
B# | DL | £ % MEZ g ik REAA | COP Datum
[ 2mzs» [ Ns [EW | e5su% | NS | EW | #12 | #6 |#12] #6 |#12] #6 || Mean | NS | EW
1 | N |None[  6SE7 1010 6SE7 1010 EW8s0 | -4 4
2 | E|NS| 4HE- 50 5DXN-4 1100 | 1150 15 EW400 [ 10 12
3 (s |EwW| 1NE3 150 1NE3 150 EW170 | 1 -1
4 | W |Both| 3Cs4 130 3CN4 130 NS190 | -2 2
5| N|Ns| 3HE3 140 3NN-3 300 | 160 4 EW50 | -3 6
6 | E|EW]| 4HES 650 4swa 620 30 1 EW270 | -9 8
7 | S |Both| 2sw2 110 [ 3cw-1 | 100 210 5 EW80 | -1 5
8 | W |None|  3DE4 130 3NW3 400 | 270 7 EW190 | 2 5
9 | N|EW| 4sN5 | 450 4SN5 | 450 NS400 | 2 -2
10 | E [Both| 3sN5 | 200 4SN5 | 650 450 10 NS590 | -9 2
@3- IMP| 26 |16 A3 | 27
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&3+ NP 26 16 »
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" Zmzss [ NS [ EW | 29255 | NS | EW | #14 | #7 |#14] #7 |#14] #7 || Mean | Ns | EW
1| N |None] 6SW6 980 6SE7 1010 | 30 1 EWS80 | -3 4
2| E|Ns 4HE4 420 4HWS5 450 | 30 1 EW400 | -1 2
3| s |EW 1NE3 150 1NE4 180 | 30 1 EW170 | 1
4 | W |Both| 2cN4 130 4DS-1 100 | 230 6 NS190 | -2 7
5| N| NS 2SE2 110 3Cs3 110 220 6 EW50 | -2 4
6 | E|EW| 4sw4 620 4HE4 620 EW270 | -8 8
7 | 8 |Both| 2sw2 110 2CE-2 200 310 7 EWS0 | -1 7
8 | W [None] 3NW3 400 3NW3 400 EW190 | -5 5
9| N|EW 4SN5 450 4SN4 420 30 1 NS400 | 2 -
10 | E |Both| 4HW-1 100 5585 650 550 11 NS590 | -10 -2
#3+ IMP[10 |24 29 | 12
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